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TOEFL PRACTICE TEST 1

Section 1

Listening Comprehension
(Not included in this book)

Section 2

Structure and Written Expression

Time: 25 minutes

This section is designed to measure your ability to recognize lan-
guage that is appropriate for standard written English. There are
two types of questions in this section, with special directions for
each type.

Structure

Directions: Questions 1-15 are incomplete sentences. Beneath
each sentence you will see four words or phrases, marked (A),
B), (C), and (D). Choose the one word or phrase that best
completes that sentence. Then, on your answer, sheet, find the
number of the question and fill in the space that corresponds to
the letter of the answer you have chosen. Fill in the space so that

the letter inside the oval cannot be seen.



Example 1 Sample Answer

(A) (@) (C> (D)

Geysers have often been comparéd to volcanoes

they both emit hot liquids from below the Earth’s surface.
(A) due to

(B) because
(C) in spite of
(D) regardless of

The sentence should read, “Geysers have often been compared to
volcanoes because they both emit hot liquids from below the
Earth’s surface. ” Therefore, you should choose (B).

Example 11 Sample Answer

(A) (B) ©) (@

During the early period of ocean navigation,

any need for sophisticated instruments and techniques.
(A) so that hardly

(B) when there hardly was

(C) hardly was

(D) there was hardly

The sentence should read, “During the early period of ocean nav-
igation, there was hardly any need for sophisticated instruments

and techniques. ” Therefore, you should choose (D).

Now begin work on the questions.

1. You your seats today if you want to go to the game.
(A) had better to reserve

(B) had to better reserve



(C) had better reserve
(D) had to reserve better

. The man prevented the dog __ the little girl.
(A) from attacking

(B) to attack

(C) not to attack

(D) against attacking

. Does your new secretary _____ shorthand?
(A) know to take

(B) know how to take

(C) know how take

(D) know how taking

. There were two small rooms in the beach house,
served as a kitchen.

(A) the smaller of which

(B) the smaller of them

(C) the smallest of which

(D) smallest of that

. Sarah hardly ever goes to ____the theater.
(A) neither the cinema

(B) neither the cinema nor

(C) either the cinema nor

(D) the cinema or

. To answer accurately is more important than
(A) a quick finish
(B) finishing quickly



10.

11.

(C) to finish quickly.
(D) quickly finish

. Simon physics at all.

(A) was hardly not interested in
(B) hardly interested in
(C) was hardly interested in

(D) was not hardly interested in

. Joyce had scarcely left

(A) when it started to rain.
(B) than it started to rain
(C) and it started to rain
(D) then it started to rain

. I don’t know why

(A) laughs my brother John.

(B) did my brother John laugh.
(C) was my brother John laughing
(D) my brother John was laughing

Knowing the property of the machine is
before using it.

(A) that

(B) because

(C) what

(D) because of

into the room after the bell rings.

(A) Professor Larson won’t leave us come

(B) Professor Larson won’t let us come

we must do



12.

13.

14.

15.

(C) Professor Larson refuses to leave us come
(D) Professor Larson won’t leave us enter

These tape recorders are out of order and
(A) need to be fixing

(B) fixing is required of them

(C) need to be fixed

(D) require that they be fixed

Who was the first person today?
(A) spoke to you

(B) you spoke to

(C) you spoke

(D) whom you spoke’

I play tennis than golf.
(A) like better to

(B) prefer

(C) would rather

(D) had better

They watched carefully the houses.
(A) during she walked against

(B) during she walked towards

(C) while she walked against

(D) while she walked toward

Written Expression

Directions: In questions 16-40 each sentence has four underlined

words ot phrases. The four underlined parts of the sentence are
marked (A), (B), (C), and (D). Identify the one underlined
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word or phrase that must be changed in order {or the sentence to
be correct. Then, on your answer sheet, find the number of the
question and fill in the space that corresponds to the letter of the

answer you have chosen.

Example I Sample Answer
(@ B) ©) (D)

Guppies are sometimes call rainbow fish because of the
A B C
males’ bright colors.
D

The sentence should read, “Guppies are sometimes called rain-

bow fish because of the males’ bright colors.” Therefore, you
should choose (A).

Example I1 Sample Answer
(A) (@) C) (D

Serving several term in Congress, Shirley Chisholm became
A B

an important United States politician.
C D

The sentence should read, “Serving several terms in Congress,
Shirley Chisholm became an important United States politician. ”
Therefore, you should choose (B).

Now begin work on the questions.

16. I didn’t mind their coming late to the lecture, but I objected

A B C
their making so much noise.
D



. John himself could not gone to the concert, which was held
A B C D
at the school, so he gave Mary his ticket.

Anybody who plans to attend the meeting ought send a

A B C
short note to the chairperson.
D
Mr. Black is thinking to go to the conference on cell
A B

biology next month.

C D
. A short time before her operation last month, she dreams of

A B C
her daughter who lives overseas.
D
This class hég canceled because too few students had re-
A ’ B

gistered before registration closed.

C D
. Rita enjoyed to be able to meet several Congress members

A B C
during her vacation.
D
. Many of the population in the rural areas is composed of
A B C
manual laborers.
D

. Jim was upset last night because he had to do too many
A B C




25.

26.

27.

28.

29.

30.

31.

homeworks.

D
One of the things what pleased him most was the new
A B C
work schedule.
D
These computers are all too expensive for we to buy at
A B C
this time.
D
The president refuses to accept either of the four new
A B
proposals made by the contractor.
C D
The town we visited was a four-days journey from our ho-
' A ‘ B
tel, so we took the train instead of the bus.
C D

People respected George Washington because he was

a honest man, and he turned out to be one of the greatest

A B C D
military leaders.

The director felt badly about not giving Mary the position
- A B
that she had sought with his company.

C D

Even though she looks very young, she is twice older as my

A B C

twenty-year-old sister.

D




32.

33.

34.

35.

36.

37.

38.

39.

Walters was angry to the salesgirl who had kept him

- A B C
waiting.
D
His books were little use to him after his eyesight
A B C
had failed.
D
John lived in New York since 1980 to 1995, but he
A B
is now living in Detroit.
C D
No one in our office wants to drive to work any more
A
because of there are always traffic jams at rush hours.
B C D
The work performed by these officers are not worth our
A B
paying them any longer.
C D
Some of the people were standing in the street watched the
- A B
parade, while others were singing songs.
C D
George has not completed the assignment yet, and Maria
A B C
hasn’t neither.

D

No sooner had I started to type my paper that the telephone
A B C



rang.

D
40. Dr. Harder, which is the professor for his class, will be ab-
A B
sent this week because of illness.
C D

This is the end of Section 2.
If you finish before time is called, check your work on Section 2
only.
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